Probability and Prize Wheel
We spin an 8-section prize wheel twice. Prizes vary depending on what the sum of the two spins is. Possible outcomes and an example of corresponding prizes are listed in the table below.
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Fig. Prize wheel
	Outcome
	Sum
	Prize
	Probability

	(1,1)
	2
	Crystal growing kit
	3/64

	(1,2) or (2,1)
	3
	
	

	(1,3) or (2,2) or (3,1)
	4
	Candy
	7/64

	(1,4) or (2,3) or (3,2) or (4,1)
	5
	
	

	(1,5) or (2,4) or (3,3) or (4,2) or (5,1)
	6
	Origami

	33/64

	(1,6) or (2,5) or (3,4) or (4,3) or (5,2) or (6,1)
	7
	
	

	(1,7) or (2,6) or (3,5) or (4,4) or (5,3) or (6,2) or (7,1)
	8
	
	

	(1,8) or (2,7) or (3,6) or (4,5) or (5,4) or (6,3) or (7,2) or (8,1)
	9
	
	

	(2,8) or (3,7) or (4, 6) or (5,5) or (6,4) or (7,3) or (8,2)
	10
	
	

	(3,8) or (4,7) or (5,6) or (6,5) or (7,4) or (8,3)
	11
	Pencil
	11/64

	(4,8) or (5,7) or (6,6) or (7,5) or (8,4)
	12
	
	

	(5,8) or (6,7) or (7,6) or (8,5)
	13
	Button
	7/64

	(6,8) or (7,7) or (8,6)
	14
	
	

	(7,8) or (8,7)
	15
	Mug
	2/64

	(8,8)
	16
	Your choice
	1/64
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